F104 Conversion kit

Formula Scythe 1’2!::[""““’”“7'

PARTS LIST

LRE S A A# i P
Fyb
1000-F104-0000 FS104Ww1/\—3>0 %y ¥19,800
Y—nN—y
2101-F104 Ao — 1 ¥7,800
2223-F104 aJJL—RA 1 ¥2,300
4131-F104 aJ7—Ltvhk &1 ¥3,900
2213-F104 JOVRJL—XR 1 ¥560
4231-F104 FRPHYA K/ \— 2 ¥860
TRG1019 Fa—TJFnN—tyhk %2 ¥1,500 TRG
TRG1035 3FR—ILYR/N—Y Yk ¥1,000 TRG
TRG1108 WHR—ILEXTEY 2 ¥1,300 TRG
TRG1113 aykI>K4815 4 ¥400 TRG
TRG1114 aOykI>Kk5815 4 ¥400 TRG
TRG1117 R—ILFvh4.8 4 ¥850 TRG
9207-3034 B—2 1\ )L3Ix34 5 ¥900
9241-4505 R—ILRAA2YE43 8 ¥480
4112-P4S1 VT4 HR—)L 8 ¥500
2C-207 OvrFI>kr4313 8 ¥180 Yokomo
PS-0918 oy>4s P3 20 ¥680 Simizu
9266-SS25 oy>4 8S025 5 ¥400
ASL-308E y & T IWACAVE L1 &2 ¥300
9204-3035 FH M3x35 6 ¥160
9205-3006 BH M3x6 10 ¥160
9206-4100 vk RX91)a— M4x10 4 ¥160
9211-3020 29vbkFvbk M3 20 ¥160
9212-3043 avo+vyk M3 6 ¥160

Rev.111012



F104 Conversion kit

Formula Scythe m‘ QN Qk §

T ERBAE
CDEIFST04wwas A—Uas b E B ROEEHYRESSENET

ARERIFIF104MSDa/NN—2a YN BYET, ERETERSERICE

F108%y MBI AY £ 3 O CRIRS FBCE &L,

BB, O CHEBRIF 045 HIBOBSTT OTARAIEA

EOM, EFIZE A TF—, SUFEBENRBETT.

AR BRI ROBEA AT ET. RURISRIES ERGESL,

TYTATTENALR
DAVRRTYV S EHF1A, TO10ART S22 ERATEET.
FS104ww D REE R KBICHRESEH3-HIZT7OVNEYDEYTATEA
B T TLEELN.
EXbEyT1T 4L YarAi4IL{20000
AFYLT o FTIVIATYR#B429 020"RTI YT
mEHRES ' 6.0mm

Yoo F 0 1 mm
TER—%

T e A e A
AMox— 1 B—2/\w JL3Ix34 4
aJJL—A& 1 OvkxT> k4815 4
aO7J7—LLH. 1 OykFxT>K5815 2
O77—.,RH. 1 aOyrFI>F4313 4
20V JL—R 1 B NN—Fa1—T 1
FRPHAF/\— 2 BoN—T500% 1
R—JLE AM3x15 3 Yk XH1)2—M3x16 1
Hho5—D04x4.5 2 Yk R a— Max10 2
250 vk 2 FH M3x35 2
0Y>% §S025 1 BH M3x6 2
oy>4g P3 10 FILIRAFM3X8 2
WAR—ILEXTEY 2 AF—ILAS—P3x5 2
IV TATR—=IL 2 275vbFvk M3 4
R—ILAEYF4.3 4 avy+vk M3 3
AR—ILFvh4.8 2 FHIIEREAE (RE) 1

Rev.111012

(AARLAIRAR)

h—ILARY 4.3

(3x8mmIMER)

@ ) )

e ) )

(5mmbEO—iR—JLFvh

)

(BmMmIyIv—XK)
(3x35mmIMER)

0)—@)fe

(F2)
FH M3x35

FS104ww X4 Vop—3

2

£
HE
1
o
Q)
Ex
I
D
L

(3Xx8mmIE'R)

IEELN.

=z
=N

VTRSMMEA—R—ILFY T B LET D THIECH

—J3

XE104 X1Fy b HOIVIN




779y M3
AvyD+y M3

XOUVIICY) VAL

EEMIHETATY—L0)

FENAL—AICTENZET .

097—LRH.—

XOD7-LI3EEERTY.
BEMINTRECLESLD
$HHDAFTLESL).

h—J)LARY 4.3

7IVIIRA FM3x8
AD7—LLH.

< 10 mm
H—
F——

1]

-

/

e

XOYVHICO) VAN EE R

AF=IVHF—D3x5
Yy rAD)1—-M4x10

WiR—=IL¥VTEY

(PYFI4 )

OJYJP3

JBHEFENAL—AICENET .

o

IIITAITR—=Ib S
(2mmCYuH) /

AV hIL—2A

Ay RIV F4815

PIS—T—LEE2RERLET. ih—ILFv 4.8 J‘M]« \
XOYEIY FICP2.8 F 7T ~ AYRFIYF5815
T BEHH L CRIBNET.




H7—D4x4.5 \

7509Fyk

0JYJP3
iN—JLEAM3x15

(BmmAvoFy k)
FRPHA F)\—
(F3)

(3x10mmIIER)

A77L—2A

o [

XT0Y FOES RV - ETHELES BEICELTOYRTY FERy LTS, \
YR BT Tl BB s E B A BN BRI BIET.

(—H
2. Tmm# v I~>L<_ 2. TmmA >y b | o §\

Ay krIVF4313

ty b AD1—M3x16
NUN=T30I%

(ZaY FI1ILATIVH)

AvyD 7y M3
(TN=TVv)
0)»7SS025
h—JLEAM3x15

(3x8mmIIMER) §|
Q. B\ —=Fa—7 S|¢
. Oy RIY k4313
. @f’efffi//

Xh—JLERIF, 077 L—AhH
OB NG VBT E THEDIAH ET .

J




